
Esercizio 1 

 

Se T0=20°C, T1=80°C, T2=40°C, P=200W, m=100kg, c=4186J/(kg K) 

 

t* = 
𝑐𝑚(𝑇1−𝑇0)

𝑃
 ln(

𝑇1−𝑇0

𝑇2−𝑇0
) ≈ 1,38 105 s 

 

Esercizio 2 

 

𝑑𝑆

𝑑𝑡
=  

(𝑇𝐶 − 𝑇𝐹)2

𝑅𝑇𝐹𝑇𝐶
 

 

Esercizio 3 

 

10% 

 

Esercizio 4 

 

2,76m 

 

Esercizio 5 

 

P/L = 
2𝜋𝑘(𝑇𝐶−𝑇𝐴)

𝑙𝑛(
𝑅2
𝑅1

)
 ≈ 40W/m 

 

Esercizio 6 

 

Se R1=2m, R2=2,6m, ∆T=40K, k=0,592W/(m K), PC=42MJ/kg, ∆t=3600s 

 

m* = 
2𝜋𝑘𝑅1𝑅2∆𝑇∆𝑡

𝑃𝐶(𝑅2−𝑅1)
 ≈ 0,11 kg 

 

Esercizio 7 

 

Se ∆T=10K, s=20cm, G=917kg/m3, Lf=333 103J/kg, 

kG=2,2W/(m K) [il valore di 0,592W/(m K) sul Tipler è sbagliato] 

 

t* = 
𝜌𝐺𝐿𝑓𝑠2

2∆𝑇𝑘𝐺
 ≈ 77 ore 

 

Esercizio 8 

 

T = √
𝑃

16𝜋𝜎𝐷2

4
 ≈ 277K 

 

 

 



Esercizio 9 

 

tTOT = 
𝑚

𝐴𝑒𝜎
[

𝑐

3
(

1

𝑇0
3 −

1

𝑇𝐼
3) +

𝐿𝑓

𝑇0
4] ≈ 3490s 

 

Esercizio 10 

 

T = 
𝐻𝑅2

6𝑘
 ≈ 0,2K 

 

Esercizio 11 

 

𝑆𝐺 =
𝐻𝑇𝑂𝑇

(1 +
𝑘𝐴

𝑘𝐺

∆𝑇𝐴
∆𝑇𝐺

)
 

 

Esercizio 12 

 

𝑇𝐶𝐸𝑁𝑇𝑅𝑂 = 𝑇 +
𝑃

4𝜋𝐿𝑘
≈ 464𝐾 

 

Esercizio 13 

 

TPL=8°C 

t ≈ 100 giorni 

 

Esercizio 14 

 

𝑇(𝑟) = 𝑇1 +
(𝑇2 − 𝑇1)𝑙𝑛 (

𝑟
𝑅1

)

𝑙𝑛 (
𝑅2
𝑅1

)
 


